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Q.2 afs FrferRaa Tt % Zohe o1 O & &9 | /ST AT 8, a
ShI-AT forehed 7 hY Y131 o & SATST Rt UMY/ If the

following piece of paper is folded to form a cube, then which

option will represent the correct combination of sides of the cube?
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Q.3 F=feiRaa forshedt W & 98 91eg YHT AT {3 T 9163 & TERT HT TAWT
Hich ST ST ThdT 81/ From the given alternatives, select the word which

can be formed using the letters of the given word.

QUINTESSENCE

A) SCOT B) QUOTE
C) QUITE D) ESTEEM
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Q.4 TS 3| STTRfcr T =& S & AT HATH T o Ue hl I |/
DIRECTIONS: Identity the figure that completes the pattern.

Question Figures:

~\nsw er Figures:

SUSESEST

(A) (C)
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®).5 B: AT P, Q, R, S, T 3R U &I et fa=-far offi U, T 3t Q & 31feren
HATAT g A1 AR S T HA efehd R & 3TFeh HATT Al R T8 hA T8l HHTAT ATl Q,
P 3R T ¥ 31Tk HHTET ATl FATARad ¥ O O A9 hT RHT ITAT <k bl

oqT?/ Six persons P, Q, R, S, T and U had different earnings. U earned more than

T and Q. There were 3 persons who earned less than S but more than R. R did

not earn the least. Q earned more than P and T. Who among the following earned

the 3rd lowest? A) P B) T C) R
))) Frenfya T2 foRaT ST ARdT/ Cannot be determined

7 /__w/
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¥ Q.6 1 #t et STt Y T 36 oy wA STavae e i Y Hat

@i1/Find the minimum number of straight lines required to make the given

()

A) 16 B) 15
C)18 D) 19

figure.
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Q.7 |t U TR U UTeh Teh 28I+ oh foTT T o8 100 Hiex gt ek =reft, fi
g IferuT s TR 200 Wie =t & forg et 7t o a1g 3 a1t @i 50 wiex
it ek =reft, TR o gt @i 20 et gt qek =refl) sifaw & 9 o o gt
R UTeh Tk Tgai o fo1g 250 Hiet <refl) uTeh o daw # 3aeht = fore faem &
2?2/ Sonal went for a walk from her house to the park. She walked for 100 m
then turned right to walk 200m towards South. Then she turned right and
walked 50 m, then turned left and walked 20m. Finally, she turned left and
walked 250 m to reach the park. In which direction is her home with

respect to the park?

§ (o0 >
A) qﬁ/ east B) T2/ west C\\&\
C) 3cdl/north D) 3cdl-UtH/north-west
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\@. Y (.8 Tt At & o, JEALOUS &1 'BFKKTVP' dR W &hifea feram Simar 31 36t
%€ H '"HEARTEN' & ¥ hifed id 22/ In a certain code JEALOUS is written
as 'BFKKTVP'. How is ' HEARTEN' written in that code?

A) OFUQBFI B) BFIQOFU
C) BFIQUFO D) UFOQIBF
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Q.9 T farehed W | '?" o TATH U AT ATTTI/ Which of the

following option will come in place of '?’

- n -
g \/
[ Ay, )

A) 24 B) 20
C) 22 D) 14
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Q.10 T3IT ; AT Tk TUUT T AB T WX T 3T, AT &T T3 3T SATehR{aAT J
¥ I HT STR{A T TR{d it Tt Tfdfara gFiT?/ DIRECTIONS: If a

mirror is placed on the line AB, then which of the answer figures is the

right image of the given figure?
Question Figures: ( >
L . ‘_

P B

Answer Figures:

i e fer

A @) ©) @)
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Q.11 ﬁ'q Rl 1Y faereat ¥ o= =t ?\Iﬁ‘l/ Choose the odd one from the

given alternatives.

A) eFGH B) NoPQ
C) UVyX D) HiJK
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Q.12 T 3#4 % 8=6 AT 9 % 4#3=12 T, AT 12 % 6#24=2 /
If, 3#4 % 8=6 and 9 % 4#3=12 , then 12 % 6#24=?
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Q.13 . How many triangles are there in the given figure ?

<t 7T¢ erreRfer ® fohae Fraer ¥2
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Q.14 T-I"]%‘E"\""I'S£ %@wf’rww Jd 3|/ Find the wrong term in

the series given below.

277, 398, 569, 792, 1081

A)398  B)792
C)277  D)569
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Q.15 TS et | YT hT (o7 TEEUTIAR AT, A7 TIHAR Sl W 2/ If day

before yesterday was Thursday, then when will Monday be ?

A) 3T<T/today
B) e oh 91 okl 2/ Day after tomorrow

C) et o &I fad 18/ Two days after tomorrow
D) 31T JTet hel | UEet ol a4/ Day before tomorrow
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Ka_f Q.16 AT ITeaT sl TTaehI T SHATTAR STl shil/

Arrange the following words as per the order in the dictionary

1. Wagnor
2. Wagged
3. Wabash

4. Waggon

5. Wackily

A)35214 B)35142
C)32145 D)35241
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- Q.17 &t WY siEeTT Wl fAFT § | HiF-|1 e 9 HEM:/ Which of the

following options will complete the given series:

R C A E AC_

A) ARECAR  B) AERCRE
C) ARCERA D) AERCAR
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Q.18 TTEET <hl | AR o TUaT it TehATT aEtE| HIfehT o dfd Tger & ol
Haterd 81/ Rahul's mother is the only daughter of Monika's father. How is
Monika's husband related to Rahul?

A) fuat/father B) SIeT/son

C) 31aT/grandfather D) SUXIE | © T&1/None
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Q.19 TATY feRHET TUTT W TR &l ug=m 38 ar =rert foh a8 faa fem a =
& uger ot AT 71 Al A% 9@t WHAR w ugaar af 98 fehaw fow @g @ uwer
1ilg?al?lT?/ Raghunath reached a place on Saturday. He came to know that he

has arrived three days before the due date. If he reaches there on Monday,

how many days later he or she will reach?

A) Ueh &7 U8eT / One day before
B) gl e uget / Two days ago
C) T feaarg / Two days later
D) Ueh &9 918 / One day later
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---/Q.zo T T8 o R 98 i TEiera 3| a879R, e ° hi9-91 Hehd, + Hehd Tl
g ok Ec\'vl:l'ﬁ 3R 22/ Four views of a dice have been shown below, which of the

following symbols is on the face opposite to the face having the symbol ~ ?
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Q21 HAT (A) : TW HEHT T AT § UFTSN W TATET ST WgHH A &/
Assertion (A) : We feel colder on mountains than on plains.

T (R) : dMAHA '\&_nl'l'é % @Y "edl 21/ Reason (R) : Temperature
decreases with altitude.

A) ASﬁ'{REﬁ'—ﬁ‘H@‘%Sﬁ'{R, A T & TTSRTUT 21/ Both A and R are true

and R is the correct explanation of A

B) A 2 R T Ul €1 eifehT A, R T @&t Tastetur T8 81/ Both A and R

are true, but R is not the correct explanation of A

C) A Hﬁ‘%, “fhT R TAA 2/ A is true, but R is false
D) A TTAd &, TiTeh R T@&T €1/ A is false, but R is true
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Q22 F & UTH H ¥ ¥ U § WF G ¥ 3174 U8 2| E & U F & AT §
Q'i@ H ¥ " g 98 T &iF 2/ F has less money than H but more than
G.E has more than F but less than H. Who is the poorest?
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Q-23 &Y TTE I HATHIAAT H | 3T IR HATH A Shl YT AT T2T TRIA |
& 81/ From the given answer figures, select the figure which is

hidden/embedded in the question figure.

Question figure:
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Q.24 SIS TN T AR 5:40 7, A1 foeie ok €@ & wet & & &1 =7
HIUT ATT hITTA?/ The angle between the minute hand and the hour

hand of a clock when the time is 5:40, is?

A)65°  B)S55°
C)70° D)95°
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Q.25 TEw: e arshw foan wan 8, e v ue/ewat aw @ f§u e
fokeat & @ 97 @d Toveu gfm S oemsw T WY
DIRECTIONS: A series is given, with one term/number is missing.

Choose the correct alternative from the given ones that will

complete the series.

ABNO, CDPQ, EFRS,?

A) IJVW
C) GHTU
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Q.26 T3T T foreheut § & foraw ©EAT/318R/9168 T IHT/Find the

odd number/letters/word pair from the given alternatives.

A) 4567 B) 2345
C) 8765 D) 6789
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Q27325831 @ 15=550 3R 14 $9 @ 2 = 122 &, ot AT=ARE 7 $ 60
@A4=AW'A"HIAFFTE?/ 125831 @15=550 and 14 $ 9 @ 2 =
122, then in the expression 7 $ 60 @ 4 = A, What is the value of 'A'?

A)404  B) 180
C)380 D)425
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Q.28 & TS 311%5% H Teha LES S 2?2/ How many Hexagonals are there

(\//\\\ .
L4 }
/—;\Of '_ L-Q Wy

in the given figure?

A)2 B)4
C)5 D)6
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Q.29 ¥ THT FTHAT & T AT I T |/Select the missing

number from the given responses
6,8, ?, 56,226
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Q.30 TEw: Wy Wear ¥ ® IW JHT A ATHA ® UW
SHAM/DIRECTIONS: In question choose the correct alternative

from the given ones that will complete the series.

BG, GC, HN, N ?
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THANK YOU




